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Answer ALL questions.

1. The following vectors have the length 4.0 units. What are the x- and y-components of
this vector. (4 Marks)

y

30° X-component: 4 cos 120° = -2

y-component: 4 sin 120° = 3.46

Figure 1

2. Giventhat A=-5i—3j + 2k and B=-2j — 2k
1) Find the magnitude of A and B. (2 Marks)

A= A2+ A2+ A2 = \[(-5)* + (=3)* + (2)* = 6.164

B = /B2 + B2+ B2= /(02 + (-2) + (-2)? = 2.828

i) Find the dot product of A and B. (2 Marks)

A B=A,B, +AB, + A,B, = (=5)(0) + (—3)(=2) + (2)(—2) = 2

iii) Find the angle between A and B. (2 Marks)

A-B 2

AB  (6.160)(282m) O

cosp =

¢ =834".

Newton’s Law
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